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QUESTION 1

Test user "LAB\tester" can perform an operation in the CIFS share "HR" from the SVM "svm1". However, the rest of the
users from the HR department cannot perform the same operation. You want to determine why only "LAB\tester" can
perform the operation.

In this scenario, which security trace filter accomplishes this task?

A. vserver security trace filter create -vserver sym1l -index 1 -protocol nfs -unix-name tester -trace-allow no

B. vserver security trace filter create -vserver svml -index 1 -protocol cifs -windows- name LAB\tester trace-allow no

C. vserver security trace filter create -vserver svml -index 1 -protocol cifs -windows- name LAB\tester trace-allow yes

D. vserver security trace filter create -vserver sym1l -index 1 -protocol nfs -unix-name tester -trace-allow yes

Correct Answer: C Section: (none)

QUESTION 2

Source Path Destination Path Relationship ID Relationship Type msgld: msragld:
78e304e0-9781-1234-abcd-00a098d771bd XDP msxpgld: msraxpgld: 3ca42ab4-9782-1234-abcd-00a098d771bd XDP
na_docavgld: ndradocavgld: a4b233b2-9783-1234-abcd-00a098d771bd XDP na_dr: ndradr:
€97d36a0-6d7c-11e8-83fb-00a098d771bd XDP na_gld: ndragld: 9e7e034d-9782-1234-abcd-00a098d771bd XDP
na_mpgld: ndrampgld: 16e52e0d-9783-1234-abcd-00a098d771bd XDP na_opengld: ndraopengld:
dabb1813-9780-1234-abcd-00a098d771bd XDP na_poc: ndrapoc: ¢1d632d7-977b-1234-abcd-00a098d771bd XDP
na_pubgld: ndrapubgld: 1a3f866c¢-9780-1234-abcd-00a098d771bd XDP

Referring to the output, which type of SnapMirror destination relationship is being used?

A. Single Volume SnapMirror Asynchronous

B. Single Volume SnapMirror Synchronous

C. SnapVault

D. Storage Virtual Machine DR

Correct Answer: A Section: (none)

QUESTION 3

You want to update your storage system and are concerned about the compatibility of the SAN components and the
host environment.

In this scenario, which two actions should you take to verify compatibility? (Choose two.)
A. Use the Interoperability Matrix Tool.

B. Use Active 1Q Interop Advisor.
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C. Upload AutoSupports to Active 1Q.

D. Use the Active IQ Config Advisor.

Correct Answer: AD Section: (none)

QUESTION 4

A customer is trying to enable NVMe and wants to use the FC adapters in the controllers but cannot enable the

protocol.

aff::> fcp adapter show -fields node, adapter,
admin, media-type,

speed

(network fcp adapter show)

node adapter

aff-01 Oh
aff-01 la
aff-01 1b
aff-01 2a
aff-01 2b
aff-01 3a
aff-01 3b
aff-01 da
aff-01 4b
aff-02 Qe
aff-0z of
aff-02 Og
aff-02 Oh
aff-02 la
aff-02 1k
aff-02 2a
aff-02 2b
all-02 3a
aff-02 3b
aff-02 fa

aff-02 ib

Referring to the exhibit, what is causing the problem?

A. There are no FC adapters installed with the speed set to 32Gbps.

physical-protocol

fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
fibre-channel
[ibre-channel
fibre-channel
fibre-channel
fibre-channel

max-speed

status-admin

B. There are no FC adapters installed with a physical protocol set to NVMe.

C. There are no FC adapters installed with a max-speed of 32Gbps.

D. There are no FC adapters installed with a media type of NVMe.

Correct Answer: B Section: (none)
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QUESTION 5

Which three techniques are used in ONTAP to improve storage efficiencies? (Choose three.)
A. compression

B. encryption

C. compaction

D. ADP

E. thin provisioning

Correct Answer: ACE Section: (none)

Reference: https://cloud.netapp.com/blog/storage-efficiency-success-stories-with-cloud-volumes-ontap
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